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Kimberly	has	$98.00	and	Christine	has
$3.45.	How	much	more	does	Kimberly	have
than	Christine?

Answer:

Kimberly	starts	with	$68.00	and	spends
$7.75	on	Skittles.	How	much	money	does
Kimberly	have	left?

Answer:

Roy	gives	$2.45	to	Nicholas.	If	Roy
started	with	$23.00,	how	much	money	does
he	have	left?

Answer:

Amanda	has	$80.00	and	Steven	has	$47.05.
How	much	more	does	Amanda	have	than
Steven?

Answer:

Dorothy	earns	$8.00	per	hour	working.	If
she	works	for	80	hours,	how	much	money
will	Dorothy	earn?

Answer:
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Kimberly	has	$98.00	and	Christine	has
$3.45.	How	much	more	does	Kimberly	have
than	Christine?

Answer:

$98.00	-	$3.45	=	$94.55

Kimberly	starts	with	$68.00	and	spends
$7.75	on	Skittles.	How	much	money	does
Kimberly	have	left?

Answer:

$68.00	-	$7.75	=	$60.25

Roy	gives	$2.45	to	Nicholas.	If	Roy
started	with	$23.00,	how	much	money	does
he	have	left?

Answer:

$23.00	-	$2.45	=	$20.55

Amanda	has	$80.00	and	Steven	has	$47.05.
How	much	more	does	Amanda	have	than
Steven?

Answer:

$80.00	-	$47.05	=	$32.95

Dorothy	earns	$8.00	per	hour	working.	If
she	works	for	80	hours,	how	much	money
will	Dorothy	earn?

Answer:

$8.00	*	80	hours	=	$640.00


